= 1mT} AL 2pas)

R ROE=S

ARTH 33 6HTE Zhe Z)



= {1,3,5,779}






i

{a,b,c,d} ©]

A=
sholat,

;g

?_

4.



5. SATA={13.6),B={z—1Laz+43} o] tolol A=B A 1],z °] gL
afolat,



® ANB={4}

@ BNC =2

® AuC ={1,9,10}

@ (AnB)UC ={1,4,5,9,10}

® AU(BUC) ={1,2,4,5,6,8,9,10}



=

A A={1,3,57,9} & W, o= F A o} T2 &
(3.5.7)
® {9,3,1,7,5}

nE

® {z|z= 12T} 2L B4}

240
@ {ales 10 oJske] #
@ {I|I_1E 9—/] Ok}\}



e 5 WY

A={z |z 89 FFp o] 7

A

© {1, 4}
@ {8, 10}

© {4, 10}
® {1, 2, 4, 8}




® A=1{3, 6, 12} @ B=1{1, 2, 4}
® AcCB @ AnNB=A

® AuB=A



A

29 Holzt

e

1
1

@ e Fofst



